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Name: 

Answers  
Division problems can be 
checked by multiplying the 
quotient by the divisor and 
then adding the remainder. 
 
If the answer is the same as 
the dividend, it is correct. 

 32 
× 8 

 256 
+ 7 

 263 

263 ÷ 8 = 32 r7 

 29 
× 6 

 174 
+ 5 

 179 

182 ÷ 6 = 29 r5 

1-10 90 80 70 60 50 40 30 20 10 0

1) 523 ÷ 4 = 261 r1
×

261
4

+
1044

1
1045

2) 823 ÷ 4 = 205 r3
×

205
4

+
820

3
823

3) 542 ÷ 4 = 135 r2
×

135
4

+
540

2
542

4) 361 ÷ 7 = 51 r4
×

51
7

+
357

4
361

5) 574 ÷ 8 = 114 r4
×

114
8

+
912

4
916

6) 385 ÷ 3 = 128 r1
×

128
3

+
384

1
385

7) 764 ÷ 3 = 254 r2
×

254
3

+
762

2
764

8) 895 ÷ 2 = 447
×

447
2

+
894

0
894

9) 923 ÷ 9 = 115 r3
×

115
9

+
1035

3
1038

10) 790 ÷ 4 = 197
×

197
4

+
788

0
788

1. not

2. correct

3. correct

4. correct

5. not

6. correct

7. correct

8. not

9. not

10. not

Checking Division Answers
Check each answer. Determine if the answer is 'correct' or 'not'.
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